Programming Methodology
Practice Session #7

Static Variables, New, Delete



Static Variables (1)
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class Student object #1 object #2 object #3

{
private:
char name[30];
double GPA;
static double avarageGPA;
} avarageGPA
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e double Student::avarageGPA = 0O;




Static Variables (2)

class ExampleClass

{
private:
static int varil; // private static variable
public:
static int var2; // public static variable
void func() { cout << ++varl << “, ” << var2 << endl; }
¥

9; // varl =J|5t
9; // var2 =J|5t

int ExampleClass::varl

int ExampleClass::var2

void main()

{
ExampleClass obj;
obj.var2 = 5; // public static variable(i &2 28 #1
obj.func(); // 1, 5
ExampleClass::var2 = 3; // public static variablelf &2 2 & #2
obj.func(); // 2, 3

}



New
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Delete
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New & Delete

class ExampleClass

{
public:
ExampleClass(); // #1, default constructor
ExampleClass(int param); // #2
~ExampleClass(); // Destructor
¥
void main()
{
int * intArray = new int[5]; // int array A&
ExampleClass * obj = new ExampleClass(3); // ZBH MA, #2 S =
ExampleClass * objArray = new ExampleClass[10]; // array MA&, #1 S =
delete obj; // obj Z8Hl 4AtKl, destructor S =
delete [] intArray; // intArray &K
delete [] objArray; // objArray W2 2= X2 destructor S =
}



Sample Practice (1)

= Salesman ClassE & stl}.

« Member Variables
— char* name;
— static int salesmanCount;
— static double asset;

* Member Functions
— Salesman(const char* name); // Constructor
— ~Salesman(); // Destructor
— void sell(int income);
— void spend(int amount);
— void report();



Sample Practice (2)

Member Variables
e char* name

— NIZX0Hol 0| E.
e static int salesmanCount
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e static double asset
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Sample Practice (3)

Member Functions
. Salesman(const char* name)
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Sample Practice (4)

= Member Functions

e void sell(int income)
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e void spend(int amount)
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Sample Practice (5)
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Hire "Chris". Totally 1 salesmen were hired.
Hire "Scarlet". Totally 2 salezmen were hired.
Hire "Bruce'. Totally 3 salesmen were hired.
"Chriz" spent 5180. Total asset bhecame 5488.
"Scarlet" spent $288. Total asset became 5288.
"Chris" earned $388. Total asset hecame $580.
"Scarlet" spent $488. Total asset became 5$188.
"Scarlet" earned $588. Total asset became $688.
"Bruce" spent $688. Total asset became 5$8.
"Bruce" tried to spend $788,. but there's not enough money.

"Bruce'. Totally 2 salesmen remained.

"Jennifer'. Totally 3 salesmen were hired.
"Jennifer'" earned 5200B. Total asset bhecame $28080.
"Scarlet" spent $1588. Total asset became 5588.
"Scarlet". Totally 2 salesmen remained.

"Sarah". Totally 3 salesmen were hired.
"Sarah" earned $588. Total asset became 51888.
"Jennifer'" tried to spend 52888, but there’s not enough money.

"Chris". Totally 2 salezsmen remained.
"Sarah". Totally 1 salesmen remained.
"Jennifer". Totally B salesmen remained.
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